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	QUESTION
	SC

	1. When timed on a specific machine, selection sort takes 2 seconds to sort an array of 1,000 doubles and 18 seconds to sort an array of 3,000 doubles. How long will it take to sort an array of 10,000 double ? To sort an array of one million doubles ?
10000: ___________ sec        1,000,000:_________________sc
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	2.Consider the following array:
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Sorting the array using a certain algorithm, a look at it after each single sorting pass shows the following intermediate results:
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Which algorithm is used ? _________________

Please write down the result of the next pass:


	1

2

	2. Consider the following array:
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Which algorithm would you suggest to sort it (order: increasing values from left to right) ? Why ?
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	3. You were presented different sorting algorithms in the last lesson. Why should you know more than only one way to sort data ?
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